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Show your calculation to receive full credit.
1. (30 points) Evaluate the following limits:
. sinz . sinz
(8) lim —= (b) Jlim —=
2. (30 points) Evaluate the following integrals:
00 9 n
(a) / r’e " dr (b) / log zdx
0 1
3. (20 points) Suppose a amount of N'T$100 is deposited in, SuperBank which pays an
annual interest rate of 100%. Find the value of the account ‘at end of the year if
(a) the interest is compeunded.monthly
(b) the interest is compounded continuously
4. (20 points) Let g(3) = |ly — XB| %+ 0.5||3]]?, where X is'an m X p matrix whose ith
row is &; = (Zi1, ..., Tip), _
(75 By
| and (=
Yn By
The notation || - ||? repregents the Buclidean norm; that is, fof any @ =% (a1, ..., a,) in RP,
la||? := >_%_, a?. Assumie that X anid y are known. Find 8 that minimizes g.
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